

$$8,41 + 71 + 0,005 + 0,00013 = 79,41513$$

$$121,4 : 2 = 60,7$$

$$3,2 \times 0,049 = 0,1568$$

$$7,464 - 3,764 = 3,700$$

$$\begin{array}{r} 8,41 \\ 71 \\ 0,005 \\ 0,00013 \\ \hline 79,41513 \end{array} +$$

$$\begin{array}{r} 2 \overline{) 121,4} \\ \underline{12} \\ 014 \\ \underline{14} \\ 0 \end{array} \quad \begin{array}{r} 60,7 \end{array}$$

$$\begin{array}{r} 3,2 \\ 0,049 \\ \hline 288 \\ 1288 \\ \hline 0,1568 \end{array} \times +$$

$$\begin{array}{r} 6 \\ 7 \overline{) 1464} \\ \underline{3764} \\ \hline 3700 \end{array} -$$

